Pre-Calculus 11 Name

Ch 6 Review ~ Rational Expressions & Equations

Simplify each and state the excluded values.
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Simplify each expression.
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Solve each equation. Remember to check for extraneous solutions.

b + 3 1 b+2
25 - =
) b? 3> 3b?

27) 1 1 N 2r—=6

A+ 6r+3 rPi2r+l  P42r+1

1 1

4
29) —=— +—=
)3x x?  3x°

5 _b+11b+30 1
b*+6b+8 b*+6b+8 b+4

31)

1 1_6
n-—1 T n-1

28)

) _ 2 _
30) L:x 5_x +x—06
2x 2x X
- 1

32) 222 5,4
n°+2n n+2



Solve each question. Round your answer to the nearest hundredth.

33) It takes Ashley ten hours to pick forty
bushels of apples. Daniel can pick the
same amount in 11 hours. If they worked
together how long would it take them?

35) Working together, Shanice and Perry can

pick forty bushels of apples in 5.65 hours.

Had he done it alone it would have taken
Perry 10 hours. Find how long it would
take Shanice to do it alone.

34) Working alore,it takes Natalie mine hours

to dig a 10 ft by 10 R hole. Dan can dig’
the same hole in eight hours. How long
would it take them if they worked
together?

36) Working together, Jaidee and Jasmine can

-5-

paint a fence in 4.74 hours. Had she done
it alone it would have taken Jasmine ten
hours. Find how long it would take Jaidee
to do it alone.



Answers to Ch 6 Review ~ Rational Expressions & Equations
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